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1200 | 1§ HARA 1 1. vs 0 4 #FNA| 27 BBEA 2 0. vs 1.3 ERA| 1200 | 3! ZFA 2 1 vs 1. 4 WEA |4 FEA 1 0 vs 1.1 #HEA
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1300 [5: #EB 0 0 vs 1. #wzNBl6: #HAB 1 0 vs 4 7 WmB | 1300 |7 FEB 6 2 vs 1. 2 WHB |8 FHB 0.0 =B
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1400 |9} BEA 1.0 vs 1.6 #=IA[10} KA 00 vs 1.5 WRA| 1400 |11} FEA 2 2 vs 0 2 ILFA |12} FHA 35 BEA
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1500 |13{ B#EB 0 .0 vs 1 RmB |14} #AB Q 0 vs 3 3 #RNB| 1500 |15 FEB 2 0 vs 0 2 HEB |16{ KB ovs 1.1 LEB
0 0 0 0 2 0
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9:00 [17) BEA BEA |18 [ITE-LYN 9:00 |19i FTHEA 4 HHEA | 201 ZIgA 2 WEIA
10:00 |21} #HEB HEB |22 HAB 1000 |23! ®®EB 1 FEB |24 BZX)IB kB
11:00 | 25! #HEA HARA | 26 BMEA | 11:00 |27 #%ZKINA 6 FIHEA |28 HRA 3 FEA
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12200 |29 ##EB #HAB |30 #EB | 1200 |31:#Z%NB 4 FIHEB [32! H®B 2 RHEB
13:00 |331 FEEA HARA | 34 BEA | 1300 |35i#=)IA 4 BEA [36] HRA 1 WEA
14:00 |37! FIEB #HAB |38 #EB | 1400 |39i#ZKNB § BEB [40] HmB 2 LEB
2 0 0 0 3 0 0 0
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10:30 | 411 F#EB HEB |42 %ZWB WAB | 1030 |43 #@Z)IB Wz | 44 BEB
11:30 | 451 FEA HEA |46 FiHA WHAA | 1130 | 47! ®@Z)IA WWHA |48 BEA FERRET
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1230 [49] Fam s |50 mEs wAe | 1230 |51 mze mmE |52 #EB (PEEHAE)
1330 | 53] F=A ZIHA |54] BEA WAA | 1330 |55] #@Z)IA HEA |56 BEA




